Key to Quiz III; F4360; Summer, 1999

1.  What is the primary role of the trustee specified in an indenture?

Enforce indenture

2.  What do we call the process by which the investment banking firm accepts price risk from issuing firm by specifying price at which will buy stock from company?

underwriting

3.  In Modigliani and Miller’s original analysis of capital structure, they show that as a firm increases the amount of debt in its capital structure the firm’s equity becomes riskier.  What do they show offsets this higher risk so that stockholders remain indifferent to the increased debt?

Increase in expected return

4.  Assume that Congress decides to eliminate the current corporate tax code in favor of some sort of national sales tax.  Given our discussion of how corporate taxes affect the typical firm’s optimal capital structure, how would you expect this change to impact the typical firm’s optimal capital structure?

Decrease amount of debt

5.  As firms issue an increasing amount of debt, the chance of financial distress increases.  One consequence of this increased chance of financial distress is that confidence in the firm is lost.  List 3 ways in which this loss of confidence can cost the firm.

3 of:  loss of key employees, higher credit costs, suppliers cut off credit, lost sales

6.  What evidence that we discussed in class most clearly indicates that conflict between stockholders and bondholders exists in the real world?

Most indentures include restrictive covenants and provisions for monitoring

7.  Which of the following dates (given alphabetically) associated with a dividend occur 2nd on a time line: date of record, declaration date, ex-dividend date, payment date.

Ex-dividend date

8.  List the three advantages to repurchasing shares via transferable put rights as compared to via a tender offer.

No wealth redistribution, no oversubscription problem, less total taxes paid by stockholders

9.  According to signaling theory, why should the stock price of a firm increase if the firm announces an unexpected dividend increase?

The increase reveals management’s optimism about future earnings for the firm.

10.  According to the agency theory, increasing dividends increases the chance that the firm will have to issue securities in the future.  How does this possibility lead to resolution of conflicts of interest between the firm’s stockholders and managers?

Management comes under intense scrutiny when issue securities.   







